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Base your answers on what you studied in | coisbo¥13ale 8 Cw)s o s gud 8

Biology: AGY AW e

1 - Choose only one question (A) or (B)
and then write its scientific term:

A) A type of connective tissues that forms
some body parts and does not contain
blood vessels.

B) Neurochemical transmitter’s presence
in the synapse during muscle response
to nervous stimulation.

03 () 91 (1) o1 3uadt i 550 -
rdde JIAN Gelal) allaael! CCS|
slial pas JS45 Bals amusi (1)
g e gl e (g g ¥ g !
Aoyl B a5 uac P51 ()
5yl e liaatl dccaall

2 _Choose only one question (A) or (B) and
then mention the site and the function:

A) Stigma
B) Interstitial cells in Hydra.

@3 () 91 (1) ot 3uadt | pisnt - ¥
s Aads gt g O(Salt 43

.W‘(i)

gt 2 Adndt LY (o)

Site slsiet

Function s syt

YA/ YAV J oW1 5 addl - das i yolt Adialt Al




YA/ YAV ol 50 aladl - J o1 59l - (A lod M1 ARULY) o Lo N1 - Aalad) A 3L Al 501 ALY Balgds G Loxiie!
o P 9% )9 o ) sl 293 plet S

3 - Choose only one question (A) or (B) (@) 91 (1) ottt ouad ) A § it - ¥

and then give an account on:

14 3 guadal| LA)S'M‘Q:'

A) Tyloses. Sty ebatt (1)
B) The deposition of the gum. S gerallici il (o)

4 - Choose only the right answer for the | aid dsvoval) Wl ¥ 50 - ¢
following sentences: 1 ok Leo
During the stages of the SPermatogenesis | -, .c; 4o aiyie S L
the spermatids formed in............. phase. | .o Ao pe b B el il gl

@ multiplication .caclaty @
@ maturation geaid| @
@ growth ooty @
(@  metamorphosis gz ()

5 - Give reason for: 1ok Lt Je - 0
Complements play an important role in the | ,weas 8 Lage 1593 &St caals
destruction of microbes that found in the Sadls 5392 pedt SLigpSeat !
blood.
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6 - What would happen if: sdie Sidsny 13Le -
Absence of helicase enzymes from the R PR I IR ST L Y
living cells? PP (PR {

7 - The figure below show a T. S. in the | Lea3d pdgy ILI1 JS it - v
ovary of a human female, look at it then | -OLud¥! i patie 8 Lud se

answer the following: 1o Les i | @D SIS (uya!

1%y How many days last for the Lo bing A ALY s S+ Y
maturation of no. (2)? S gy ST (V) iy St

27) What are the names of hormones 3045 G lga el mul Le <Ll
secreted from no. (2) and no. (3)? 8(¥) (Y) oy e

3) How many chromosomal sets in the | uallOle gamalisie oS :CIG
cell no. (1)? 3(1) iy adsdl 8
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8 - Explain the effect of: Aol BN iad 55 g - A

The two lobes of pituitary gland in suckling | | 5luas .8 dels 1 dudes e
(breast feeding) process in man.

9 - The following is the sequence explains | i i g gs L AL - 4
a part of a DNA strand; DNA 562 po Aala
H ﬁ“ >
Answer the following questions:

“3....TAC - TTA - AGC - ATT....’5

1*Y) Write the sequence of nucleotides on Aalad 3 Sl 0155230 1ol o381 ¢ 31
mRNA transcribed from this strand. sia (po w3 guiall RNA 55
DNA e (yo Talaztl

2"Y) How many amino acids in a B ¥ yales Flane sus Lol

polypeptide chain translated from this | eiw it aedt e atutu
strand? (Mention the 1* amino acid in | po RNA aatas ;e sl
this chain). B 3 sl e gl 4S5
Caledd ol
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10 - Choose only one question (A) or (B) | g (<) 9l (1) ot gmdt iyt -\ ¢
and then define scientific term:

uﬁﬁ
(A) Tendons. Lg% (1)
(B) Sarcolemma. LAPIS st ()

11 - Choose only the right answer of the | : U L daZd dxouall Wla ¥ K50 -) )

following sentence: 35S a T Sl B 5 3] a3
The fragments of antigen-bind inside the | ; sz coiaiLssar s
macrophages to a protein called......... :

@ Immunoglobulin. Ot s gl @
@ Major histocompatibility complex. oI | (33145 @
@ Interferon. WOl g pud SN @
@ Complements. (Sl 1) Olaciall @
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12 - Give reason for:

The appearance of malaria fever symptoms in human.

1ol Lo yuwd -\ Y
Ol le Lyl e (al5e ygels

13 - What would happen if:

Chromosomal triploid in human was
found.

zubwﬂ!@M! e - \Y
2 Gruall b aclal Ggus
SOL M (2 Aaimall Ay g

14 - Write the scientific term:

Proteins which suppress (inhibit) the immune
response or stop, so the B-cells will stop
producing antibodies.

JIAN elall mllaael! 831 -\
z@y‘ 3)\.:.&” e
ducliadl Al ¥ dads (g
(B) Listst adgins Letlaay 4
Baliaad! plus 1 2131 (e dea) S

15 - Mention one example for each of the
following:

1*) The differentiation of an egg (N) to an
individual directly.

2") The differentiation of somatic cell (2N)
to an individual directly.

o3 Law JST 1o 19 ¥ Lo 431 - 1 0
552 11 (0) A gall Jgaui : ¥
it
((CRIE YR (FRIEN [ PR HTL
s 358
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16 - Choose only one question (A) or (B)
and then compare between the following

terms or definitions:
A) Neutralization & Agglutination.

B) Getting rid of toxins in plants & Getting

rid of toxins in human.

(<) 9l (1) gt A 551 -\

O (B
)Mty Jalaid - |
Sl A pgawdl (po palsidl - o

OLLO N 58 2 gasd | (pa Ll g
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17 - The figure below show the translation | .RNA #ud (oo G JSat1 - VY
of mRNA Answer the following: - %
(A e la

1°") Write the bases sequence on mRNA. RNA e celgatt sl casi ¥

279 What would happen if the arrangement | 538 oe55 5 i3] G (e Lsls

of bases on the DNA template sodlat DNA day o e
changed? oD piiial | @33 ¥ ) el Lo LTS
39) What is the name of enzyme which s RNA o

used to translate mRNA?

Part of DNA single strand
DNA (30 3 520 doy 52 (30 25

| | | | | |
LA][T][C][C]|[T][C]
I Y I O I O

. I LANgU S g L mRNA
A B
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18 - Illustrate the effect of LH and FSH | LH FSH 1502 ;06 py- 1A

hormones on human male and female. LY L3y 583 ole
LH FSH
Male
S
Female
SaY

19 - Choose only one question (A) or (B) | g (<) of (1) ot gudt dni pisnl - 14
and then write its scientific term: dude JI01 alal | s

A) A particular sequence of nucleotides in | SLaM b Sl gulS gudt aolis -
DNA is transcribed to a complementary | ;yo lgswus o3 1013 MRNA e
sequence in triplet on mRNA. DNA oy ys aai

B) The enzyme is produced by viruses with | Slugyall 8 4iyad asgi @il - o
RNA genome. RNA i oo 95 1

10 YoM YAV Jo%1 5ol - A | rolt Adbalt Aie
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20 - Choose only one question (A) or (B) | (&) of (1) ondtaud) i yisnt- Yo
and then mention the importance: .
p 1 dcead s 9 @2
A) Tendrils in plant. LA 5B G led -
B) Cholinesterase enzyme. il (953 @3 330 —

21 - Choose only one question (A) or (B) | :@3(w) gi (I) o3t dni yi5 = ¥
and then give reason for: e

A) The zygospore divides by meiosis. B Gigre plowdil Ggu > -

D g ¥ Hgagny

B) The menstruation takes place if the ovum | coasi @l 1] calalts ygs crumi - o
is not fertilized in human female Ol ¥ 01 S8 Aday o)

YoAA/ Yo AV J %1 59t - Aam | rall Al Wi
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22 -What is the technique that used to
obtain the following:

1Y) Important economic plants from some
living cells.

2"9) Frog without fertilization.

23 - Choose only the right answer of the
following:

The lymphoid organ which have the highest

percentage of lymphocytes is

Tonsils.
Thymus gland.
The lymph nodes.

®O0eE

Payer’s patches.

24 - Mention the uses of hybridized DNA.

Jganll daclel! 45y ylalt HSOI - VY
150 JS e

oA (po Aol Aed g3 SLo 1Y
s LIS

cobast g palads Lol

1l Lo Jadd dovoual| dala ¥ sl - VY
Lo jm3 A gliactdl slonad ,ui

..........

gl DNA Gletisciat 831 - ¢
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25 - The following table illustrates the e ¥ olen 31 Sl 53 5S4 Litatows — Yo
codons of different amino acids, look s J gt 2
at it then answer: i

Glycine | Arginine | Threonine | Lucien | Prolines | Alanine | Tyrosine | Lucien | Alanine
ol | o)) | otignd | omwed | odon [ 0¥l | o | prwesd | ol

GGC AGG ACC uuG CCC GCG UAC CUG GCA

1) Write the mRNA strand that produced : A DNA day 58 sty
from the following part of DNA: 253 MRNA ay s 81 ¥ i
3..... ATGGGGCCGTCC....."5

2"d) Write the arrangement of amino acids in | o aus¥! polea ¥ i3 Cast :Lals
the polypeptide chain which produce from | ¢ 75 i aded! doie alulu
the previous nucleic acid. 599 st

26 - Illustrate by drawing only with complete | LS 2o dodd @iyt misng- Y1
labels the structure of the vertebrae in | _» i e 5,3 _us,5 ol

human.
Olua ¥
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27 - The figure below show the humeral e lial| AT gy IEI JSt — YV
immunity. adatsd

‘;SS"U.‘: u:;‘ S ;3@‘,5

$(Y) @8y riaall Zoani Lo : ¥

S oo 38150 (p3g 23 Basrl Lo Ll

1*") What is the importance of organ no. (2)?

2"4) What is the importance of major
histocompatibility complex?

3) What would happen if the structure S, O 13] S fale LIS
no. (3) absent? S(Y) o,
(2)
3) %
N
i 4
=

28 - What would happen when absence of | 4cgexo Clié e s 13Lo - YA
phosphate group from skeletal muscular | itiac as iy o clacigat
tissues? s

14 YoM YAV Jo%1 5ol - A | rolt Adbalt Aie
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29 - Choose only the right answer of the | :b Les dadd dmoali Lala ¥ s - Y4

following: | OLgid M 5.3 gat ! slgal (po
From the inflammation-generating substances

Perforine. 20922889yl
Cytokines. LS gt |

®
®
@ Interleukins. LS g 0N
@

OO®OO

Histamines. SO Liaigt

30 - Choose only one question (A) or (B) and | (<) of (1) ot gaudt iy - ¥ o
then give reason for: .
e @
A) Placenta may cause great harms to the | 2:IL 1ol derdialt coens 13 -
embryo. § ol
B) The suitable female age for pregnancy | (s Je=ll cewliadl GOY ;oo —0
ranges between 18 and 35 years. §dw Yo 9 \A

YoAA/ Yo AV J %1 59t - Aam | rall Al Wi
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31 - What are the results if leaves of calyx | : le 4.5 2 latt ZLEM & Lo - ¥
are hardly .dlfferentlated .from those of Bagl 58 oIS Glogl jused pue
the corolla in some flowering plants?

SOLLAY Lyl (s B g il

32 - Write the scientific term of the following: | :oL L Gle g1 olall pllaaal| oS! - Y'Y
They offer information which are @3 o1 Slaglastl Jami G301 LI
collected about microbes and foreign T AL 3y S g ,Scadt (30 Lomeas
particles to the specialized immune cells | aawmsiat delict LML Lgouan
found in lymph nodes? A glaesdt) suatl o8

33 - What would happen when: £iodl B J5 Ggus 5l g - Y

a disturbance in the neurohypophysis a1 AN (e ucaal

hormones of pituitary gland occurs?

H
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34 - Choose only one question (A) or (B)
and then compare between terms or

definitions:

A) Lysis & Precipitation in immune system.

(concerning: the way of work)

B) B-cells & T-cells (concerning: the place

of production and maturation)

() 9 (1) o1t i 5t - Y8
1 Qyld
LN PEN [P U (PRTER (B
(Legis S Jo Ay ylo o (1)
ast Ly (B) astaiusisa o
(paitty Lot e (10 (T
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35 - The following figure represents one of
the important vital processes in the cell.

Ist) What is the name of this process? and its
importance?

2"d) What is the function of part (A)? What
is the results of the disturbance in
nitrogenous bases?

(A)

Sk | Sl (o LU St - YO
And) Aolgh Angumndt Orlaleal
Slginani Loy Sasleall o0 ol Lo + ¥ gl
5 (A)eiodl aadsy Lo Lol
dclgaldl B M Ggus Ao Lay

Sl g il
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36 - Whatis the role of head and neck of man’s
sperm?

O JS dapgdn it Hoadl oo Le - T
L giad) Gl gt | L3 Gially Ll M
SOLud ¥ ,Sut

37 - Choose only one question (A) or (B) and
then write its scientific term:

A) Seeded plants whose seeds develop with
a pericarp.

B) A phase in the menstrual cycle 1is
characterized by an increasing in estrogen
secretion which stimulates the growth of
the endometrium.

@ () 9 (1) gt oy - PV
vdude JIal elal) allaned! COS|
Il Lo ygins Lais ayon Glils -
(Sed A

Cealatl 359 Yo lpp ! -0
09 31 =B 83l 3t e
shadl LTy g (ear g )i ¥

o3 Wy
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38 - What are the results of:
Injecting a group of mice by virulent
bacterial type (S) that previously treated
with deoxyribonuclease in addition to
living bacterial type (R).

Ao A kel I Lo - YA
(S) LriS 0101 (pa Ao gama (s
63 mAb lElelas G Ay diedd!
st (R) L iy s 528 900 905 S|

39 - Choose only the right answer of the
following:

The ovule formed by ...................
division in flowering plants.

meiosis only
mitosis only
meiosis then mitosis

mitosis then meiosis

®O0eE

Aovonall Aol B - Y4

ot Las daid

51 SBLATY B Sl sl (35S
........... Al ¥ Alaw g

dazd (g geall @

dadd (g gieal! @

Sogedl @3 (55 gued! @
st ()
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40 - What would happen when: 03] Sty 13La - €+
The developing cell produced from a9 (5500 (3 guoms Aulay g3 Chias
the fertilization of one single sperm is Sosm e ol S Lol sLidlg
separated into two masses of cells?

YoAA/ Yo AV J %1 59t - Aam | rall Al Wi 21
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41 - Compare between the following:
Endospermic seeds & non-endospermic

seeds.

z&gwﬁ-i\

S L AT

SA i g 3| ST 590019

Endospermic seeds

Ay g3 | 5ol

Non-endospermic seeds

ARy g | A Hooud
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42 - What would happen when: $13) St 13Le - €Y
The second line of defense failed in getting |, o PLb Yl da s Gas]
rid of the foreign body? ) Syl sl (o il

YoAA/ Yo AV J %1 59t - Aam | rall Al Wi 23
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43 - Choose only one question (A) or (B) and | (<) oi (1) 1 udt di Ji5t - €Y
then illustrate by drawing: DL JalS T ey @3
A) Stages of pollen grain germination. a1 dm S g e -
B) Asexual reproduction in bread mold. o B i SUT ALK o
ISUES (V-9
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44 - The following graph illustrates the Sl 8 () (o) (1) Cleionialt - £
ald Ldiae Lolay Jad JLdY
contraction of the same muscle “(A) curve "’“'d - @ S S
o (i) iovel! Sios Cus Aldall
represents the normal contraction”: odall Laalt (oL
1) What is the name of each state that is | (- JS Lebies I AN gul HS51: ¥y
represents by (B) and (C). 3(g) (@) Cpcimial!
2) Explain the curve (C) does not return | 3258 pae Cuus b s9u b suid <Ll
to the start state. Waiy Gaimnat (g) memined
o
=
o
=
£ (A)
» '}
=
S n
gh
s 3 (B)
: -—
A P S CECEES (©)
2 i 7 7
2 #3¢
= /7
= time
O
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45 - Part of DNA contains the following gsim3 DNA s (4o 2iue - to
sequence: AL ol e
/

3....TAC — GCC- GGG - ATT....”5

Answer the following: PPRPERORRY " (R N ST EPRR
1*) What would happen if the Thymine | 31 DNA ¢5;> 2 ool

base changed to Adenine? § oY
2" Is the protein synthesized or not? | G=ta3 Llds e iyl Joa :Lals
Explain your answer. Sl |yl §Y AT g ol

2
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